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Example Candidate Responses — Paper 1

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level
Business, and to show how different levels of candidates’ performance (high, middle and low) relate to the syllabus
requirements. This document helps teachers to assess the standards required to achieve marks beyond the guidance
of the mark scheme.

In this booklet candidate responses have been chosen from the June 2023 exam series to exemplify a range of
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes
and guidance for candidates for each question.

Please refer to the June 2023 Examiner Report for further details and guidance.

The questions and mark schemes are available on the School Support Hub

9609 June 2023 Question Paper 12

9609 June 2023 Mark Scheme 12

Past exam resources and other teaching and learning resources are available on the School Support Hub


http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support

Example Candidate Responses — Paper 1

How to use this booklet

This booklet goes through the paper one question at a time, showing you a high-, middle- and low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in
the right-hand column are the examiner comments.

Example Candidate Response — high Examiner comments

@ Willingness and ability to buy a
product is a partial answer.

L | % [Demand VvoJc-_-Pvm' to__the .wr(imgnpss-. Qnd ﬂQJo.L(,Ltg;_‘Qj:‘_o._
' CONSUMEFS...40_buy,OL_good_or seruice. ot a @) |
| POtIGUIaY price:in_0._SpecifiC . time. -periock- k. can._ @ The candidate expands this

bo_ MOy tnhluenced_ by ¢hanoes_-in. price.. e with reference to a particular price
J Vg . Y . 9. ) s and specific time period shows clear

1

4 b S.(LPP’S ‘nga;j)mdu.d__ea.m_,b?_'im }(:QQD.C&Lb g_cji_ma ' understanding. This answer includ.es
Q_QHQ_LU.QG(;!GLTL,P;L_ condit10ns. For example . 1 Fhere both of these points, but only one is

180 oad _hqy;u_@si_ﬁdug 0. ?OOV f’l-;mad_-{’) +ho necessary for 2 marks.
Supply__gor_eoneat mgut decrense and_ther? Il Zu—
\_maAricet, I Examiner comments explain
Responses are written by real candidates in exam : | where and why marks were
conditions, demonstrating the types of answers for awarded. These help to
each level. These could be used to discuss and interpret the standard of
analyse the answers with learners in the classroom to Cambridge exams to help
improve their skills. ) learners refine their exam
technique.
N J

How the candidate could improve their answer

* (@) This answer could not be improved regarding the definition of demand. The last sentence was not necessary
and was not awarded a mark.

» (b) This was a strong answer with detailed application of one factor and it could not be improved.

This section explains how the candidate could
improve each response. It helps learners to improve
their exam technique.

Common mistakes and guidance for candidates

+ (@) Definitions should be precise without any need for explanation. Many candidates were awarded 2 marks for
this question. Answers frequently referred to the amount that a customer is willing and able to buy. ‘Amount’ was
acceptable as an alternative to quantity. Reference to specific price or specific time was needed to earn the second
mark.

» (b) The candidate needed to state one factor that influences supply. If several factors were stated, only one of them
would be marked. The explanation needed show how the factor will influence supply and candidates needed to
give a clear explanation of how that factor would increase or decrease the supply. An example of a vague answer
would be, ‘A change in weather conditions might increase or decrease supply’. This answer would be awarded 1
knowledge mark for the reference to the change in weather conditions.

This section lists common mistakes as well as helpful
guidance from the examiner. This will help your learners
to avoid these mistakes. You can use this alongside the
relevant Examiner Report to guide your learners.
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Question 1

Example Candidate Response — high Examiner comments

@ Willingness and ability to buy a
product is a partial answer.

4| % Domand._ epRAS: 0_the 1l Ungness. Qnd_ability_Of ﬂ _
, coﬂsumam_,__’co_bug__o. _goodl_or. seroice_at o @ | .
| PONCIGUIAY 1 price:-Ln_ou._Specific . time. -perioct: tt.can | e The candidate expands this
hO MQO!Ullij_tvgJuenceOl bg#chgne)gs_, H—P“CQ——O— with refer.e.nco.a to a pgrtlcular price
and specific time period shows clear

4 h S‘LPPU F@lr_a_])xodudf QQn_bQ_ijlluenc@.d__bg_CJLmah’_ understanding. This answer includes

a_qnd__meq{:k)PL_coz)dltLOJ)S__toy e_xGmPfP “, Fhere. both of the?e p;oints,kbut only one is
8-Q_ad_havuest_due to. P00r_climaitt;.. the necessary for < marks.

QSuPPlu ror.moneat mgQht decrense and there | @ The final sentence is not
VV\q‘Lj,_be___CL_.ShOJtG.OP of wheat . the wmariet necessary for this definition.
QOV'C(H9 +h(7 'DY‘!CQ O(‘ U)h@(_lﬁ_ ] (LP'~' i Mark for (a) = 2 out of 2

o The candidate states climate
and weather conditions, which
shows knowledge of one factor
which can influence supply.

@ Developed application of this
point relates to a bad harvest
causing supply to decrease, leading
to a shortage of wheat.

Mark for (b) = 3 out of 3

Total mark awarded = 5 out of 5

How the candidate could improve their answer

* (@) This answer could not be improved regarding the definition of demand. The last sentence was not necessary
and was not awarded a mark.

» (b) This was a strong answer with detailed application of one factor and it could not be improved.
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Example Candidate Response — middle Examiner comments

_|..DNemand i 1he.gaontity8fa product thot g consumer i reody to...

Y. for-..

Tfrhnoio\c]sy-me - '

| Khen the. compony. cises tec hnology. to_mohe preduchs there..
il _be a_higher_nowm._number of products. produced. compored.
-to_a comjgany ihol uses. .moncal lobour since mochines dorcd...
- 861 _Arred _théy .con.cworh _fora longer_time_comp accd___t’,.o..u_._e.m
_humons thot need o _break coithin _the. cuork-

o The candidate refers to the
quantity of a product without
mentioning a specific price, so gives
a partial definition.

Mark for (a) = 1 out of 2
@ Technology is a correct factor

influencing supply, so the candidate
is awarded 1 knowledge mark.

e The application refers to
technology improving productivity
which is correct, so the candidate is
awarded 1 application mark.

Mark for (b) = 2 out of 3

Total mark awarded = 3 out of 5

How the candidate could improve their answer

* (@) To improve their answer, the candidate could have said ‘is willing and able to buy’ rather than ‘ready to pay for’,
but this would still be a partial definition. The second mark could only be awarded if they referred to a specific price

or time.

* (b) The candidate could have developed their point about increased productivity by making a link to supply, for
example ‘higher number of products produced means that the supply of products to customers can be increased’.
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Example Candidate Response —

low
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Examiner comments

The candidate’s answer does
not show a clear understanding of
demand. Product availability refers
to supply.

Mark for (a) = 0 out of 2

9 Place / location is a factor
that can influence supply and
the candidate is awarded one
knowledge mark.

€@ Easy access of the customer
affects demand, not supply.

o Transportation cost and capital /
machinery are also factors affecting

supply, but the question asks for just
one factor.

The final two sentences do not
explain how any of the three factors
given might influence supply.

Mark for (b) = 1 out of 3

Total mark awarded = 1 out of 5

How the candidate could improve their answer

(a) The comment on customer needs is linked to demand. The candidate should have referred to the quantity of
the product that a customer needs / wants and is willing to buy.
(b) The candidate needed to only choose one factor and apply this to its influence on supply. The most appropriate
one, based on the content of this answer, would be the use of more machinery rather than labour. The application

could then be that usually more products can be made by machinery than labour. This will improve productivity and

leadtoani

ncrease in supply.

Common mistakes and guidance for candidates

(a) Definitions should be precise without any need for explanation. Many candidates were awarded 2 marks for
this question. Answers frequently referred to the amount that a customer is willing and able to buy. ‘Amount’ was
acceptable as an alternative to quantity. Reference to specific price or specific time was needed to earn the second

mark.

(b) The candidate needed to state one factor that influences supply. If several factors were stated, only one of them
would be marked. The explanation needed to show how the factor will influence supply and candidates needed to
give a clear explanation of how that factor would increase or decrease the supply. An example of a vague answer
would be, ‘A change in weather conditions might increase or decrease supply’. This answer would be awarded one

knowledge

mark for the reference to the change in weather conditions.
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Question 2

Example Candidate Response — high Examiner comments

’ L T The candidate gives a partial
Focko 8 : ed 0 ¢ o o ;

. ,l) - &> JLXoLTete ok | ReogmdkaDn Gure Yee de > Produce o definition and is awarded 1 mark for

o _goodudk | secvice  pailably - Tlese vodinde

: - naming the factors of production.
----------------- teed Ne2ooC | CaRel | edtecgrise: TX 16 kol The first and last sentences
coanles Me oeer oo Ot o bosicese:r -| | combine to give a full definition.

D e | ..T“O°S‘{‘l§?§ff\°~"‘0"\%,,,\><0€€§§ 1g ot ConmnlClt inputs o Mark for (a) = 2 out of 2

chess e Me  ween  cow ccarecials [ ommennects || could both be applied, but only one

ONPoNs - @(\69&%60&--\\:4&_*‘“05\40?“}&*"0\"\9\ 9 Input stage and output stage

ace  (Omnbiced Yo cceave o erodudc’ fofts b 1 needed.

cove omokesials  Oxt  oaneded ko Me end erodotS
o so e en be delivectd  ao Me Lashtoreel.

e Raw materials / components are

identified as inputs.
Q%reo)(cw cnarenals  coon as  Hles andencines |

wn e toovected to rave o cec._ || @ The candidate identifies tyres

and engines as components.

Mark for (b) = 3 out of 3

Total mark awarded = 5 out of 5

How the candidate could improve their answer

(a) The candidate listed the four factors and gave a partial definition. The factors are the resources / inputs needed
to start and operate a business. Their definition would have lacked clarity if they had not included the words ‘factors
of production’ and ‘land, labour, capital, and enterprise’. Instead it could have been referring to just capital, which
would have been a different definition than the one asked for.

(b) The candidate understood that the transformation process begins with inputs, recognised what inputs might
be and gave a sensible example to show how inputs could be used, so was awarded all 3 marks. The application
of the output stage using the car as the end product showed understanding of what is going to be sold to the
customer.
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Example Candidate Response — middle Examiner comments

ex-. fa,w ‘» SLLPP\JUU! 4 _humnvirag. Twama ndo. pm(‘nﬂqm
gelloble - Pv@wm One i U &mﬂﬁs w-
Proclucy. clardepwerdy . whane_ Hue . produet:. wo

: o(!wgmot -, Q\V\QJ!LQO( b&Va‘vﬁ gcw@ uate

2 (). | Factoys o(( p\(ool.urbm av?.ﬂw_ caw«pamd'n 0 @ Components needed for
. v\;uadad v ‘SVOo(zwtﬂm T incdude W production’ is too vague, but the
HELY final sentence of ‘combined to
oz, S s 3 wwp/ua_, Tog e, create a business’ adds strength to
o MW Wﬂo\mm ', f"'mmarb%slwa the answer. The inclusion of the list
i ’ - T e el of factors creates a clear definition.
v e X Mq,hmq,[ procm v E M Mal—a;w{g Mark for (a) = 2 out of 2

9 Raw supplies could be an
alternative name for raw materials.
These are inputs, although the
candidate does not state this.

- PVCDULC("'W .

e The candidate’s reference to
product development is mainly
about marketing rather than

the transformational process of
operations.

Mark for (b) = 1 out of 3

Total mark awarded = 3 out of 5

How the candidate could improve their answer

» (a) Definitions should be precise. The candidate could have improved their answer by combining the first and last
sentences and listing the factors as the second sentence, for example ‘Factors of production are the components
which are combined to create a business and to carry out production. They include land, labour capital and
enterprise.’

» (b) The first sentence was acceptable to include in the answer. There needed to be reference to the raw supplies
being the inputs that are turned into sellable products. An example of a raw supply, e.g. flour to be used in cooking,
would have shown developed application of the input stage.

10
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Lanol,,,,lobou,t.,,,,gapﬂaL,._,..Ena‘crprf,ae,:o,_,__. S
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includes c;c:f.mc’rj.na,oﬁ _materiols... Hie—roat..or minerals.....
like__coal.,. timestone. thot_ore used i h_thiego like. Cfof’te

Example Candidate Responses — Paper 1

Examiner comments

o The candidate gives a partial
definition and is awarded 1 mark
for giving a list of the factors of
production without any further
comment.

Mark for (a) = 1 out of 2

9 The candidate confuses
sectors of production with factors of
production.

€@ Coal and limestone are raw
materials, but the candidate does
not give them as examples of the
input stage of the transformation
process.

Mark for (b) = 0 out of 3

Total mark awarded = 1 out of 5

How the candidate could improve their answer

(a) The candidate needed to give the definition of factors of production and use the list of factors to support this if

necessary.

(b) The candidate did not seem to know what the transformational process is so was not able to give a correct

answer.

Common mistakes and guidance for candidates

(a) Many candidates were able to give a clear definition and most of them named the factors of production. This
made it possible to award 2 marks to definitions which were two partial statements rather than a clear definition.
Candidates must be aware that definitions should be precise and can be found in books and web-based learning
sites. The wording of definitions will vary in different sources, but the content of the definition will still be correct.

(b) Candidates found this question difficult to answer and gave a definition of the transformational process rather
than identifying a stage. Some candidates referred to adding value as a stage, but it is a consequence of the
transformation process rather than a separate stage. Some candidates successfully incorporated adding value into
their application for the input or output stage.

1
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Question 3

Example Candidate Response — high Examiner comments

@ The candidate refers to
‘processes’ which ensures that their

response is relevant to a business
S0me._.opportyn: Ab10S. of._achieving ther r,_poitﬁnt\gié situation.

t,\}QySOnQ S_tveatect the samf, _uwikh uo

Q:Q\Bcnmmatmn..tomayds Sendler, vae_ox socod @ The candidate’s reference to
, class . L - L e ' the ‘same opportunities’ shows

‘ their understanding of people being
OV\.@ PNeL1E mnu bD that IPS-GPHL)—H—#FG'& Q[LOM_NCFO)' treated in the same way.

oL oA, chZ_moch eore_.-thatt _ogn contribute | o
d,[{:{;@ypjﬁ —deas.. and _perspectives .+ the deusion: | e The_ca_nd'qat’es use of _

mC,thg f L Lipm.. 'D\\)Pl'my,,_p QCQSWPOS’N?!UQ_ vawe | noddlsct;rlrr:jlpah:)hn tSh|(|)\|2lS their |
on,_Ahe laQQ_Oji_OLgIF?J’Oht____CLul:uV?X )_robaes_,_rellgwnj understanding that all have equa

3 | a EquuLLtg)-_ls +ue_yrqat\& €S -,ahd_J?voCQSSQs_used_ﬂ
Q& _JouSIness_.So_that Pveygo_no S_OLuln_the

{e,m_ |

W0 LDOrICROrCO SO fOr exdnple: o firm value.
dRoctes 40: “pp-_chonge. J£S DVDYY)UHOH QDY S0me @ The candidate states ‘gender,
counwes ,  a. _clipp I’SQ_wDrKﬁO rce_hw_OU_(d_J’?e/? S race or social class’, which

them deqcte_on,_cu (turelty - cppropriate ad ad ubrsemeyits | demonstrates their knowledge of
|£hat__don't ojcr_Dnd O/my(m,e)_awmn fka_ﬂt‘.ltm,e_ groups who may face inequality.
Cbroader pSpective D _[ntern OtoOL OLPRaIYS 1 a6 (a) = 2 out of 2
lorthout _haurng 4o poy the COSES o-E pecrutting |

AR QWLPLDj:; Q@S__SPQC{:FIFOHU £or: ‘H/LIS pu V’)()S»E e ‘Ideas and perspectives’ is a
benefit.

@ This point shows the
candidate’s understanding of a
diverse workforce.

@ Avplication is based on
successful promotion to different
countries.

Mark for (b) = 3 out of 3

Total mark awarded = 5 out of 5

How the candidate could improve their answer

» (@) This answer contained more than enough points which would comprise a definition of equality. The first or the
second sentence on its own would have been awarded 2 marks. A combination of parts of these sentences would
also give a clear definition, e.g. ‘the processes which make sure that everyone is given the same opportunities
regardless of gender, race, or social class’.

» (b) This answer could not be improved; it was clearly written, showed good understanding and gave an application
of one benefit to a business of employing a diverse workforce.

12
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Example Candidate Response — middle Examiner comments

, - - Being treated equally is a
2oy | h&“’*\"\x‘r \“&‘3““5—@‘9—“#&—”—‘&*5\\@‘\5\—\? Smw\\e& e'»xé.\\v,, A\F X\ﬂ feaature o?equality. A
usiness g-.._;«,\me\@.,_e;{é«u.gvmhmm-wm\au_\;. c_bidneTT
\\‘\E \.\.q\\ma« Q\)o_“;f\\i\o__s b)a\&__\;‘@.&hﬁh&.o&l&& &QA\AO\X‘X\S
.\- shne8s ';\\\\_kuJ}quém\a\t -

_._,_.A.b.:.......LMQ!:&,.,,pcof.'.i.t..:/..e_. e
| Since dhere 18 0 diverse coorhfore. . the._compong.con
Am,a..he.‘gl:o,.d.u,cté,._.,._},ha_}_..Q.o.%on.e, in_the Bocia ltl Con_Consum aq
-|using Htne_ different raze., re:v@ion,_.,.,a‘_ba.t_‘,a\he%hgye.‘.,fn__.ﬂw,e._ _
__|worhe_prace_the ¢ ompoany..gainé._.a. ider mo rhet hence. .

- [mAking more. pr ofibs e o

9 The answer lacks clarity and the
candidate does not define equality
as required by the mark scheme.

Mark for (a) = 1 out of 2

@ Profit is not a benefit of
employing a diverse workforce (see
mark scheme).

o The benefit is making a wider
range of products based on the
differences in their workforce. The
candidate shows an understanding
of a diverse workforce and how that
might apply to the business product.

@ Increase of market share and
profit may not occur as the products
can be made, but do not always sell.

Mark for (b) = 2 out of 3

How the candidate could improve their answer

» (@) Although ‘treated equally’ was acceptable, the words ‘fairly’ or ‘the same’ would be better. The rest of the
answer was confusing as it did not recognise that the stakeholders listed could not be treated with equality unless
a discriminating factor such as age or gender, was referenced. There is no reason why managers and workers
should be paid equally as they perform different jobs. A better answer might be, ‘equality means everyone should
be treated equally based on their ability and performance in a job role, rather than their race or gender’. Motivation
and profitability are not relevant to a definition of equality.

« (b) To improve their answer, the candidate could have stated, ‘A workforce containing different races and religions
may have more ideas about products to manufacture. This could lead to a wider product portfolio which may
appeal to different people in society and increase the number of customers.’

13
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Dla EO\,Ua\.»)tﬁ i when reseorcec ore @

Example Candidate Response — low Examiner comments

a The candidate does not
answer the question based on the
information given in the syllabus.
They imply that equality involves
financial resources being shared

bk ety % the ol
! %‘L dds, T dees ek pm?ﬁ“' "

s'\nb W N me _Or. resourceé bt

between stakeholders.

Mark for (a) = 0 out of 2

Yoo e \, ’\:I—Lb\fjte
Diﬁ 3 e\le\ O $ ka 'OPOL Su\%{e

e\\otob

S T A N Aﬂyw werkboree iwdunden \A-gm 5 eé\.&%o.m& e, @ This is a definition which is not

I S \e\wcbjm o{'h,gvx\ab,w«fd—w\cﬂ S‘\\&&a)\-vs 9\'\3\61\9\»0«% e Although the improvement of
image may be a benefit of having
a diverse workforce, this is not
explained.

Mark for (b) = 1 out of 3

How the candidate could improve their answer

(a) This question was based on the syllabus area 2.3.6 ‘Staff morale and welfare’. All definitions should be taken
from recognised business textbooks or resources. In the mark scheme, terms such as ‘fairness’, ‘no discrimination’,
‘treated the same’ are used, alongside examples of groups of employees who might have low morale and welfare
due to their different backgrounds, beliefs, and experiences.

(b) The candidate had the basis of a good answer, but did not develop the pieces of information fully. A more
successful response might state, ‘a benefit to a business of employing a diverse workforce is that it can improve
the company’s image. Potential customers see that employees are from a mix of different races, cultures, and
backgrounds. These customers may prefer to buy products from this business and sales will increase.’

Common mistakes and guidance for candidates

(a) Most candidates understood equality and could use appropriate terms within their definition. The examples in
the middle and low scripts showed common mistakes and guidance.

(b) Although most candidates understood what was meant by a diverse workforce and could give a good definition,
this did not answer the question. Many candidates applied diversity of race, culture, religion, etc., but others
considered age, experience, and qualifications which are other aspects of diversity. Candidates could have given

a benefit of using the experience and skills of different workers, to help the business compete successfully by
increasing productivity.
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Example Candidate Responses — Paper 1

Question 4

Example Candidate Response — high Examiner comments

i

4. | Staeholaers ate__amy gAlndw:duql&MQer,cffd_b_
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lan O@OmgSCLtLOf]‘ v | | @ This definition is not required
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teordlek. totkh. -.emp LDHQQ\S—GS——'@‘QH— FO @ This candidate identifies at least
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arm, 4hs. co V\JLllCt__Q_QLLLd_LQ_SLU{: In__ Q- pall_| | profit, increased costs. Development
ops heli_Sho. price_and._vaiue, g the of only one way is needed.
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lewel.. o Also, 1f #.QN0OQELs_NCH0SE WO riung between stakeholders is developed

_MOUS_k 46 paaue.poductocy nse, +has colld | | well, showing the effect on all three
WRSeLlE_In__Stvljce - oction witth tvade - uniyn. | | stakeholders and how this will affect

mU’oL\)Qment) . J:eOL’cmq_(l neootive  Im peict {0k I |the business. The answer shows
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Uthe o "9 an. LSQﬂO”—'—OmOL—"PQSSLb Igﬁhaattm:g_j»@ol Llﬁwﬁ connections between causes,
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0080 100012KS___And. _Shaeolders— WoUld  be consequences.

QP bkt tooutd. 1eSult a4l £l of (DIRC | |\ for AOT = 1 out of 1
Dnv Q V)UQIHPN .

Mark for AO2 = 2 out of 2
Mark for AO3 = 2 out of 2

Total mark awarded = 5 out of 5

How the candidate could improve their answer

This answer included more knowledge, application and analysis than could be rewarded using the mark scheme and it
could not be improved. This was an extremely well-written answer.
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Example Candidate Responses — Paper 1

Example Candidate Response — middle Examiner comments
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of stakeholders and a description of
two different stakeholders. Some of
it can be used within the application
and analysis.
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[¥e aim  of  Shoseholders | As if Yhe Seling  price
decreases  ond - demaad  dosen't - k'S ~less - diMely 4o

Jhave -0 increase in  market Shore  therefor® dwee @) | @ Conflict is identified between
shareholders and customers, but

the development is not clear.

with

U

reduced Yhe omouat  of Money »\Ane%-' - oukdl Goxn oS |
0 Shoreholder o the business.

o |Tx ol offect e  woy business  wW moKe | SMART
@) chiectives oo W il hove koo bake inko  Considemtin @ Conflicting objectives is an

of fackors. thak  may  hot  benefir  Ythe, . kosicess effect on the business, but this is not
written clearly.

Mark for AO1 = 1 out of 1
Mark for AO2 = 1 out of 2
Mark for AO3 = 1 out of 2

oerall Cenee .=

Total mark awarded = 3 out of 5

How the candidate could improve their answer

+ Some of the information in the first paragraph could be used to develop the application and analysis more fully.

» The answer could be written more clearly, for example, ‘One way that a conflict between customers and
shareholders may affect a business is when setting appropriate objectives. An objective might be to gain maximum
profits for shareholders by setting a high selling price for goods. If the business increases prices the sales might
reduce as customers buy the products from a competitor. If the business decides to reduce the selling price of its
products, the customer will be satisfied but shareholders will disagree as this reduces profits. The managers of
the business will have to decide whether high profits or high sales are more important for the future success of the
business.’
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Example Candidate Response — low
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Example Candidate Responses — Paper 1

Examiner comments

a The candidate shows a vague
understanding of stakeholders as
they consider them to be internal
only and people who run the
business to be owners or managers.

@ The candidate gives a vague
comment on status.

@ People may resign as a result of
conflict, but the candidate does not
explain why.

o The candidate does not analyse
why there were will be a loss.

Mark for AO1 = 1 out of 1
Mark for AO2 = 0 out of 2
Mark for AO3 = 0 out of 2

Total mark awarded = 1 out of 5

How the candidate could improve their answer

The candidate could have focused their answer on internal stakeholders such as owners, managers, or employees. It
is possible to have conflict between members of the same stakeholder group, e.g. between managers. In this case the
candidate might have written, ‘A conflict might occur between two managers in a business about how to motivate the
employees. This may reduce the motivation of the employees. They may not be able to work with the managers and

may resign. The business will then have the costs of recruiting more employees.’

Common mistakes and guidance for candidates

* Most candidates began with a definition of a stakeholder. This was not required, although knowledge of

stakeholders was required for application.

» Some candidates explained the different types of stakeholders in detail without answering the question. For some
candidates, the time taken to show this knowledge prevented them from completing all the questions in the paper.

+ Some candidates continue to confuse the terms ‘stakeholders’ and ‘shareholders’ which led to some candidates not
answering the question correctly. Candidates must be aware that shareholders are only one type of stakeholder.

» There needed to be a reasoned analysis of what the effect on the business is and what this means for the

business, now and possibly in the future.
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Example Candidate Responses — Paper 1

Question 5(a)

Example Candidate Response — high Examiner comments
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A definition of government
grants and / or sources of finance
is not necessary. In this case, the
information is relevant to the grant
being given to a social enterprise.
Providing finance when it is difficult
to obtain elsewhere is a relevant
benefit.

e Not having to repay the grant
and no interest being charged

are two separate benefits. The
candidate uses both to analyse the
benefit of grants being a low-cost
source of finance.

@ The application and analysis
of this benefit develops through
reduced risk because there is no
debt. The business can therefore
focus on its targets.

Further development considers
how the business can focus on its
social objectives.

e The developed analysis
balances ethics, cost, and
profitability which can all be
considered because a government
grant is a low-cost source of finance.

@ The second benefit is that
using a government grant allows
the original owner to retain control,
rather than losing control by selling
shares.
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Example Candidate Responses — Paper 1

Example Candidate Response - high, continued Examiner comments

[movivmtes onoplonees  nd mamgws oy, sa‘(’mm cleay obxeo‘cwes
[t wort towardS  Thic \eads v incensed mobuation of
omp\oo,ees 05 ’chuo have  Clemy $0% ‘avget Y work -towmols

\mr mename oveovey, \noveacec\ kvmhvm’omh eﬂdg W

Woher Drodutivily and  fise n  cushower Survice €IS omployees
wnb o wshomers WOnidval weeds TS wlults o tnueased
mstomer \walty  wWiich man held business e acheive long
ke _ (e @) " | | @ This retention of control is
applied and analysed with the
focus on leadership, objectives,
motivation, productivity, customer
service and loyalty, and long-term
success.

Mark for AO1 = 2 out of 2
Mark for AO2 = 2 out of 2
Mark for AO3 =4 out of 4

Total mark awarded = 8 out of 8

How the candidate could improve their answer

This was a strong answer which was written and developed in a mature way. To improve their first benefit, the
candidate could have clearly stated that the government grant may be given to support small social enterprises
struggling to operate ethically. Operating ethically can increase costs. The grant would not create as much risk to the
business as other sources of finance. Banks would expect the loan to be repaid with interest. The application to the
cost of labour would then flow on from this.
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Example Candidate Responses — Paper 1

Example Candidate Response — middle Examiner comments
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oy SineSs cohick cowd . tead 30 bugneg | | Management.

not. Iseing: OB\ - 5 W&PCFEIP* Y fx‘"f | | @ The candidate’s development of
baélc T Ud-@bf'g curel eventiaoy Y the analysis is limited to paying back
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S - ] source of finance.

e The candidate’s development of
the analysis is limited.

Mark for AO1 = 2 out of 2
Mark for AO2 = 2 out of 2
Mark for AO3 = 2 out of 4

Total mark awarded = 6 out of 8
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Example Candidate Responses — Paper 1

How the candidate could improve their answer

Both benefits given by the candidate lacked the development of the connections between causes, impacts, and / or
consequences of the benefit.

For benefit 1, there was no cost of repayment. There needed to be more clarity in the application and analysis. One
way of doing this would be to say, ‘the grant is finance coming into the business which could be used to buy assets.
These assets might increase production and sales. This would bring additional revenue into the business. This will
increase the cash inflow and the working capital. Therefore, the business will be able to pay current liabilities such
as suppliers and the business can operate successfully.’

To improve benefit 2, the candidate could have rearranged their answer to begin with the benefit. For example, ‘the
business owner would not have to risk giving their personal assets as security for the grant. If they chose a loan
from a bank as the source of finance, they might have to offer collateral in case they could not repay the debt. The
owner might have used their own money to buy assets for the business such as tools and machinery. If they did not
repay the loan the bank might take these assets. Therefore, the business could no longer operate and would have
to close. Using government grants there is no risk of losing assets so the business might be able to produce and
sell more products and expand within the market.’
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Example Candidate Responses — Paper 1

Example Candidate Response — low Examiner comments

a Two benefits to a business are
that the grant does not have to be
paid back and there is no interest.
This is continued later in the answer.
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Total mark awarded = 3 out of 8

How the candidate could improve their answer

The candidate shows incomplete knowledge of grants which limited the marks they could be awarded. To improve,
they needed to focus on two benefits and develop these. The confusion over primary sector application and only
the secondary sector being able to get a grant, weakened the answer.

To improve the development in the middle section of the answer, the candidate might have clarified their reasoning.
For example, ‘Grants and/or subsidies can be given by the government to small primary sector businesses which
find it difficult to raise finance elsewhere. The grants can help farmers to improve productivity, e.g. by being able

to afford more land or employ more workers. These businesses, such as fruit and vegetable growers or producers
of cotton, can then produce enough goods to export to other countries. This means that the farmers can increase
revenue and possibly expand.’

The second benefit could be made up from the first and last sections of the answer. For example, ‘A benefit of

a government grant is that it does not have to be paid back and there is no interest charged. A business in the
secondary sector could use the grant to buy fixed assets. This can increase the production, sales, and revenue of
the business. There are no repayment costs for the grant. If revenue increases more than expenses the business
might make more profit. The profit could help the business to become more successful and expand.’

Common mistakes and guidance for candidates

The question asked for two benefits to a business of government grants as a source of finance. There were 4
marks available for each benefit: AO1 Knowledge (1 mark), AO2 Application (1 mark) and AO3 Analysis (2 marks).

Candidates should clearly state and develop one benefit, and then state and develop the second benefit. There
was no need for a definition of internal / external finance as this was not required to answer the question. The
answer could lack clarity if the two benefits were not discussed separately.

Candidates could apply their answers by using a business example to describe how the benefit would work.
Examples of this are included in the mark scheme and shown above.

Analysis should explain how the benefit would improve the operation of the business, e.g. growth, productivity,
reputation, profitability. This analysis must develop connections, impacts and consequences of the benefit.
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Question 5(b)

Example Candidate Response — high Examiner comments
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o Although the first paragraph

is not necessary it does show that
the candidate is focused on failure
of a business, which is part of the

' | question.

9 The candidate shows developed
knowledge of working capital
throughout the essay and is
therefore awarded 2 Level 2 marks
for this.

e The candidate applies their
answer to the context of a retailer
to some extent, with the recognition
that they exist in the tertiary sector
and purchase and sell goods
regularly. The candidate also
mentions a small-scale business
within this paragraph.

o The candidate gives a strong,
developed analysis of the effect of
poor management of working capital
on the ability to pay suppliers and
retain customers.
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Example Candidate Response - high, continued
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Examiner comments

@ The candidate makes

a judgement that a skilled
entrepreneur will be able to
effectively manage inventory,

which is part of working capital
management. If this is the case, the
small retailer is unlikely to fail.

@ The candidate begins

to consider the influence of
competitors as a likely reason for
failure of the small retailer. They
give a strong analysis within this
paragraph, although the Level 2
analysis marks have already been
awarded. There is some balance
here with the judgement that
success is ‘largely dependent’ on
competitors.

@ The candidate gives a limited
evaluation in the final sentence,

‘... Iis only significant if ....” The
candidate is awarded Level 2 marks
for developed application when they
refer to a small retailer being unable
to compete against retail chains.
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Example Candidate Responses — Paper 1

Examiner comments
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e The candidate makes a
judgement that if working capital is
not available to hire specialist staff
and the owner is incompetent, then
the business is likely to fail.

9 The candidate continues to
develop their judgement in the

first half of the final paragraph, in
addition to that given previously.
This is not just a repeat of what has
been said before.

@ The candidate makes additional
developed evaluative comments
which balance some key arguments
regarding the most likely reasons for
business failure.

@ The final sentence gives a
brief but direct final answer to the
question.

Mark for AO1 = 2 out of 2
Mark for AO2 = 2 out of 2
Mark for AO3 = 2 out of 2
Mark for AO4 = 4 out of 6

Total mark awarded = 10 out of 12

How the candidate could improve their answer

» The candidate did not include any reference to the context of a small retailer within the evaluation itself, so was

restricted to receive Level 2 marks for evaluation.

+  Examples of how the context could be included within the final paragraph might be, ‘It is vital that a small clothing
retailer has enough working capital to purchase buffer inventory to meet increased demand at certain times of the

year, e.g. t-shirts in summer and coats in winter.’
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Example Candidate Response — middle Examiner comments
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o The candidate offers limited
relevant application.

The candidate demonstrates an
incomplete knowledge of working
capital.

The candidate gives a limited
analysis of poor management of
working capital leading to cash
shortages.

The candidate shows
a developed knowledge of
management of working capital
but offers a limited analysis in this
paragraph.

@ The candidate starts to consider
other reasons for business failure.

The candidate identifies ‘small’,
‘local’ and ‘less need for capital
investment’, which could all be
developed into application.

e The candidate gives a
developed Level 2 analysis, based
on the threat of competition.
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Example Candidate Response — middle, continued Examiner comments
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to balance whether working capital
management or external factors
cause business failure. They offer
a judgement with limited supporting
comment that working capital
management is most likely to be a
cause of failure.

Mark for AO1 = 2 out of 2
Mark for AO2 = 1 out of 2
Mark for AO3 = 2 out of 2
Mark for AO4 = 2 out of 6
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Total mark awarded = 7 out of 12

How the candidate could improve their answer

» To be awarded both developed application marks, the candidate should have referred specifically to a retailer,
rather than only a small local business. This might have involved the use of terms such as stores, named retailers
or the types of products sold directly to consumers, e.g. freshly baked bread.

» The candidate needed to give a developed Level 2 evaluation, rather than limited and unsupported comments. For
example, ‘It is very important for a small retail shop to set sensible short-term objectives such as survival when
it is competing against large and established chain stores. A small retailer should spend money on employing
workers with good customer service skills to help increase revenue. This would improve the working capital. If
the business reduced prices to compete with larger retailers this would reduce working capital and the business
might fail because it does not have enough available finance to pay its day-to-day expenses. Survival can only be
guaranteed if working capital is managed well.’
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Example Candidate Response — low
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Examiner comments

The candidate demonstrates
a limited knowledge of working
capital, which is developed later in
the answer.

The candidate offers no
development of the points they
make in this paragraph, so cannot
be awarded a mark for analysis.

e The candidate introduces ‘lack
of experience’ and ‘capital’ as other
reasons for failure of a business.
This gives balance to the answer.
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Example Candidate Response - low, continued Examiner comments
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Mark for AO1 = 2 out of 2
Mark for AO2 = 0 out of 2
Mark for AO3 = 1 out of 2
Mark for AO4 = 1 out of 6

Total mark awarded = 4 out of 12

How the candidate could improve their answer

The candidate needed to apply their answer to a retail business, e.g. a shop providing good customer service.

Developed analysis must follow a chain of reasoning through several stages. An example of how the candidate
might have improved the analysis for comment 4 is, ‘Poor management of working capital might mean that the
business does not have the available finance to pay the workers properly. If they are not paid properly, they may be
demotivated and might work more slowly or make more mistakes. This could lead to less production and without
products to sell the business would have less revenue, which could cause them to fail.’

To improve their evaluation, the candidate could have offered developed balanced comments and a developed
judgement. If possible, these should be given in the context of a small retailer.

Common mistakes and guidance for candidates

The application marks were difficult for some candidates to earn as they wrote a general answer which could apply
to any business, whether primary, secondary, or tertiary. Many candidates were more familiar and confident with
application to a manufacturing business than a retail business.

The candidate must refer to operations that a retailer is more likely to carry out than any other type of business.
These might include merchandising within the shop or store, the importance of sales staff and customer service,
the use of examples of retail business or the types of products that they sell (clothes not fabric), the use of home
delivery, and attractive packaging as ways of competing within the market.
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3

Some candidates referred to location, which was acceptable as application if it was obvious that this would help
customers to access the store rather than for raw materials to be delivered to the business.

The best way to improve analysis in for this question would be to follow a chain of reasoning as far as it will go, no
matter how many stages this takes. Candidates should avoid missing out stages. For example, it is not analysis
to say that selling more means profits will increase because this does not explain why. For a clear analysis, the
sentence should read, ‘If a business sells more products without reducing the price of those products, then the
revenue will increase. If the costs of the business stay the same, even though more products are being sold, then
there could be an increase in profit.’

Evaluation was assessed only in 5(b) and 6(b) and is a skill which many candidates find difficult. There is still
analysis within a good evaluation (see the example of how the candidate above could improve their evaluation).
Candidates needed to include balanced comments, which often use words such as ‘vital’, ‘very important’ and
‘essential’, and there should be a judgement to answer the question. In this case, the evaluation should identify the
most likely reason for the failure of a small retailer. There must be a comment on the importance of working capital
management and a clear judgement of whether this is the most likely reason for failure or whether it is something
else.
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Question 6(a)

Example Candidate Response — high Examiner comments
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The candidate applies their
answer to Apple, which is a good
choice of business to explain the
benefit made. It is not necessary
to name a real business. The point
can be explained for the benefit
which any business might gain. For
example, in this sentence the word
Apple could be removed, and the
application would still be there.

9 The benéefit to the business is
being able to charge high prices due
to the brand image.

9 The candidate offers a
developed analysis and identifies
that even when charging higher
prices than competitors, a strong
brand image keeps price elasticity of
demand low and therefore there is
higher revenue.

The second point is use of a
USP in marketing with application to
Domino’s Pizza.

The candidate develops their
application into an extremely strong
analysis.

Mark for AO1 = 2 out of 2
Mark for AO2 = 2 out of 2
Mark for AO3 =4 out of 4

Total mark awarded = 8 out of 8

How the candidate could improve their answer

The candidate could have strengthened the first point of their analysis by inserting, ‘therefore customers are still willing
to buy the product at this high price’ after stating that PED is low. This would show that the candidate fully understands
PED. However, the analysis was still Level 2 without the extra comment.
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Example Candidate Response — middle Examiner comments
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Total mark awarded = 5 out of 8

How the candidate could improve their answer

» The candidate should have clearly identified benefit 1 and benefit 2 and could have used the same application
in different ways, leading to separate factors being analysed for both benefits Their answers could have been
improved as shown below.

« First benefit — attracting customers. ‘A car manufacturer might install a booster seat in a car, a feature which no
other company has, therefore this is a USP. Customers with young children may prefer to buy this car rather than
competitors’ cars. The rival cars may have other features such as a sunroof, but nothing targeted at families with
young children. This USP attracts customers away from competing businesses and therefore might increase the
number of customers and the market share of the business.’

» Second benefit — higher revenue. ‘The USP for the car manufacturer might be that it produces electric cars as part
of its range. If this car is not available from any other car manufacturer, then customers who are concerned about
pollution will have to buy electric cars from the only business which sells them. The business can charge a high
price for the cars because the USP matters more to the customers than the price. The high price combined with
increasing demand leads to higher revenue being earned by the business.’
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Example Candidate Response — low Examiner comments
% | o |uniaug J‘enméﬁbfd.‘r;}v (M&fp) (5 the, umCUE FeCuE OF any a The candidate starts with a
. PRETE foctor OF the, Poduct that is direrent From i | defin-ition of U$P, whic?h is not
@ comretitors o dagE b ong uaith thor Gver our Proput @y | reAuIred for this question.
TR One o LN 0we one,. T BeneRtT 10 O busingys OF @ The candidate identifies one
hoving ¢ uniaug seiung Point S that i+ coutd be the foctor benefit of having a USP as ‘to

tO ottt MOrE, Customer belemg OFf of the Markenng 1EChniawe attract more customers’. They only

}0 OHmBC Cugiomer because, Our Product (5 the Odty O0C and \Wth | | give one benefit in this answer,
thot i WL INCE03 the, fOtal numbt! gf Sater ong Gives the so a maximum of 4 marks can be

buiness Morg or high Profit from i+ @) awarded.

Q The candidate applies their
answer to the USP acting as a
marketing technique, attracting more
customers because the product is
the only one.

@ The attempt at analysis
regarding the benefit to the
business, ‘it will increase the total
number of sales and gives the
business more or high profit’, is
not successful. A USP does not
guarantee this. The candidate
has made an assumption, but not
explained why, therefore it is not
analysis.

Mark for AO1 = 1 out of 2
Mark for AO2 = 1 out of 2
Mark for AO3 = 0 out of 4

Total mark awarded = 2 out of 8

How the candidate could improve their answer

The candidate could have used parts of the definition to explain why the USP can act as a marketing technique.
An example of this might be, ‘A benefit to a business of having a unique selling point is that it might attract more
customers. The business can use the USP as a marketing technique and this might attract customers away from
competitors. This is because the USP is unique and this is the only business which sells it.’

The candidate offered an application in their answer because it explained the effect of the USP on the customers,
how it works, not the benefits to the business.

Analysis would be to how the attraction of more customers might benefit the business. An example of this might
be, ‘If customers buy the product with the USP from this business, then its sales will increase and those of its
competitors might fall. The business will get more revenue from this product. If the increased revenue is higher
than any increase in costs the business will make more profit. It could use this profit to expand the business and
become more competitive in the market.’

To be awarded more than 4 marks, the candidate needed to analyse a second benefit, examples of which are
shown in the mark scheme and in the high and middle scripts on pages 31 and 32.
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Common mistakes and guidance for candidates

Candidates were knowledgeable about the meaning of USP and could give detailed examples. For each benefit
the mark allocation gives 1 mark for knowledge, 1 mark for application and 2 marks for analysis. Candidates
needed to be able to develop the reason each benefit would help a business. Many candidates gave detailed
explanations of what a USP is, but this did not answer the question.

The AO1 knowledge marks were given for the benefits, e.g. customer attraction, premium pricing or creating brand
loyalty. Two separate benefits were needed, and candidates could be awarded a maximum of 4 marks for each
benefit.

Application could be to a real business (Domino’s), a specific type of business (car manufacturer) or a business in
general. The application part of the answer should explain how this benefit might be seen in the business or how it
affects the customers. For example, ‘A business with a USP of advanced technology in its products may be able to
set a premium price as these products will be the first ones of this type on the market.’

The example of technology, above, is not analysis because it has not been developed into how the business
benefits from this premium price. The analysis might be that, ‘Customers are prepared to pay a high price for
products with advanced technology because they are buying a product which most other people do not own. This
means that the business can gain high revenue from each product sold. There is high added value which allows
the business to pay for the research and development of the product as well as having a high profit margin. This
will help the business to continue to develop new products or to expand the business.’
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Question 6(b)

Example Candidate Response — high Examiner comments
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Example Candidate Response - high, continued Examiner comments
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Example Candidate Response - high, continued Examiner comments
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Mark for AO2 = 2 out of 2
Mark for AO3 = 2 out of 2
Mark for AO4 = 5 out of 6

Total mark awarded = 11 out of 12

How the candidate could improve their answer

To earn the final Level 3 AO4 mark, the candidate needed to develop the evaluative comments and judgements in the
final paragraph in context, for example, ‘... marketing is vital to success of the coffee shop because it is new and must
source the promotion because it is in competition with other large coffee chains such as Starbucks...capital is the
most important factor in the success of the coffee shop since it is needed to buy sufficient inventory of coffee beans
and milk, as well as assets such as a coffee machine and cups. Without the capital to buy these the coffee shop
cannot operate and survive.’
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Example Candidate Response — middle Examiner comments
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customers, but are not a definition
of marketing. Paragraph 2

| demonstrates the candidate’s

knowledge of using market research
to identify consumer demands and

' competition. This is AO1 Level 2

developed knowledge.

Reference to types of coffee
preferred by consumers is context.
Choosing an appropriate location to
target students is also relevant but
is not strong. The candidate’s point
is developed enough to be awarded
Level 2 AO2 marks.

The candidate offers several
relevant statements in this essay

‘| showing limited analysis as they

are not fully reasoned. They are
awarded the AO3 Level 1 mark.
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Example Candidate Response — middle, continued Examiner comments
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but this is limited. They offer

a limited judgement that other
departments are equally important,
but this is not developed so AO4
Level 1 judgement is awarded.

Mark for AO1 = 2 out of 2
Mark for AO2 = 2 out of 2
Mark for AO3 = 1 out of 2
Mark for AO4 = 2 out of 6

Total mark awarded = 7 out of 12

How the candidate could improve their answer

The candidate could have strengthened their comments in context for AO2 by saying that students near a college
campus might often visit coffee shops during the day to have a drink and a sandwich or cake before continuing with
their studies.

To develop AO3 analysis, the candidate should have continued their chain of reasoning. For example, when
discussing the pricing, the candidate could develop this by saying, ‘Market research can find out the prices being
charged by other coffee shops in the area. The new coffee shop may try to charge lower prices to make them
competitive. They could research what their target market is prepared to pay, such as students may want lower
prices. The coffee shop could then set a price which can attract customers and encourage them to be loyal. This
price must also cover the production costs. In this way the business will be able to survive and make some profit,
even in a competitive market’.

The candidate could have improved their AO4 evaluation (balance) by developing the comment of good HR
management being important. For example, ‘This means that baristas could be recruited who are good at serving
customers which will improve their buying experience. This could encourage customers to visit more often and
become loyal. This would increase demand and revenue for the business. This is very important is the coffee shop
is going to survive in the long run.’

The final judgement would then decide whether marketing or HR management is the most important factor that will
affect the success of a new coffee shop.
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Example Candidate Response — low Examiner comments
& | M»-\ccbwl e Xe L Qrscens d&(o\o«d‘a%swlw a The definition of marketing is
enecmel N ek o tusomer Rrefixodi o awarded 1 mark as it does not show
B STV va\s\ukvmngc_')\&d: SRR Vane ek rzt\wr a developed knowledge.
Qlotd oeh il ulesd @ The candidate offers a limited
Bnew osee  sheg o SolesBEaL K2 necebe. 21 application to a coffee shop with the
S M cusomaesss v ey %antvc&{n_bt,, ”| | use of the words ‘type of coffee’ and

e Ssohe ’f\'\o.,ﬁ_u_w\ftu‘(\r\)—, o _vedvee Ae
ral N V\M,_C‘.Q‘{&Qs\'\ug,\oel«\%) Se\ e= Yo

dhe . et ‘taste’.

@ The candidate gives a limited

analysis in the last sentence with
reference to reducing risk.

@ The candidate does not give an
evaluation in this answer.

Mark for AO1= 1 out of 2
Mark for AO2 = 1 out of 2
Mark for AO3 = 1 out of 2
Mark for AO4 = 0 out of 6

Total mark awarded = 3 out of 12

How the candidate could improve their answer

The candidate could have shown more developed knowledge by explaining how identifying the needs of the
customer might involve market research into the target market, for example, by using questionnaires to find out
their opinions on the taste of different types of coffee.

The candidate could have developed their application within the knowledge. For example, ‘When the market
research has been analysed, the owner of the new coffee shop may be able to serve the types of coffee which
customers prefer to buy, for example, flat white, cappuccino and latte. Research may show what size cups the
customers would prefer or whether they prefer to take the coffee away with them in a disposable cup. Customers
may also like the coffee shop to also provide food such as cakes and sandwiches.’

Analysis based on the above knowledge and application might be, ‘If the new coffee shop conducts primary market
research well and listens to what potential customers would like them to sell, the business may find it easier to
enter the market. They might be able to provide a more personalised service to their customers than the large
coffee shop chains such as Starbucks. A new coffee shop will not have an established brand name, but the people
who were asked to fill in a questionnaire may try the coffee shop and could become loyal customers if they are
pleased with the experience. The market research might be time consuming and expensive for a new business, but
it is a form of promotion and loyal customers may carry out free advertising for the business by telling their friends
about it. Marketing is therefore an important factor in the success of a new coffee shop’.

The candidate needed to consider another factor which could affect the success of a new coffee shop. This could
be the strength of the competition, the disposable income of potential customers, or changes in the economy. It is
not possible to make a judgement or recommendation if marketing is the only factor which has been analysed.

Evaluation needed to be based on the factors given in the analysis, and a judgement should be made based on the
most important factor affecting success.
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Common mistakes and guidance for candidates

Many candidates interpreted marketing as the 4Ps and based their answers only on these. They made a
judgement on which of the 4Ps was the most important factor for success. This did not answer the question which
is based on marketing. Marketing involves finding out about the market which the business is going to be entering.
This will involve market research to identify the needs of potential consumers, the existing competitors and will
influence what the business should do to be successful in this market.

Some candidates found it relatively easy to apply their answer to the context by referring to types of coffee
(americano, latte, cappuccino) or to equipment used in a coffee shop (coffee machines, cups, tables) or to
employees, such as baristas. Many candidates considered the use of the words ‘new coffee shop’ taken from the
question to be context. However, no marks could be awarded for the use of wording given in the question.
Analysis must always be developed reasoning. If not, it is often an unsupported statement or at best a brief
explanation.

Evaluation is a high-level skill and can be difficult to develop. The mark scheme expects two different forms of
evaluation: comments and judgement. Examples of these are given for the scripts above. Levels 2 and 3 require
developed evaluation, but Level 3 could not be given unless the context of the coffee shop is seen specifically in
the evaluation.
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